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Methods expressing of matter quantity
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Molecular weight (M.wt) =Sum. of Atomic weights
M.Wt(CH3COOH) =2C +4H +20
=2x12 + 4x1 +2x16
=60 gm/mol
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Atomic weight = Equivalent weight (Eg.wt ) x Valance
At.wt

Eq.wt of element =
Valance
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At.wt 40
Eg.wt of element = = =20 gm/Eq.
Valance 2
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HCLO3 ,CH3COOH ,HNO3,HCL Jia (Monobasic) Laclsl) Aalal) () e *
H2S04 ,H2S03 ,H2S Jie (Dibasic ) Laclal) AN (jaa) g *
H3PO4 Jis ( Tribasic ) dpac\al) AW [aal g ¥
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Eg.wt of acid = Wt of molecular Formula
No. of H'

M.wt (H2S04 ) = Sum. Of At.wt
= 2x1 + 32x1 + 4x16 = 98 g/mol

Eg.wt of H2504 = 98 =49 gm/Eq.
2
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Eq.wt of base = Wt. of Molecular formula
No. of OH
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Sum. Of At.wt
40 x1 + 2x16 + 2x1 = 74 gm/mol

M.wt of Ca(OH)2

Eq.wt of base = Wt. of Molecular formula
No. of OH




Eg.wt Ca(OH)2 = 74 =37 gm/Eq.
2
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Na2S04 ,CaC03 ,BaS04
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M.wt (Na2S04) = Sum. Of At.wt
= 2x23 + 1x32 +4x16 =142 gm/mol
Eq.wt (Na2sO4)=  Mwt = 142 = 71 gm/Eq.
2 2
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No. of gram equivalent of solute

N=
Volume of solvent (Liters)
Wt. of solute
No. of gram equivalent of solute =
Eq.wt
N= wt.of solute x 1000

Eq.wt Vml
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N wt.of solute x 1000

Eq.wt Vml

M.wt NaOH =Sum. Of At.wt
=1x23 +1x16 +1x1 =40 gm/mol

Eg.wt of NaOH = M.Wt = 40 =40gm/Eq.
1
No. of OH
N= _20 x 1000 = N=1
40 500
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N1 V1 = N2 V2
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M1 V1 = M2 V2
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N1 V1l =N2V2
200x 0.3 = 36.8 xV ml
V=1.63 ml
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No. of Moles (solute )

M=
Volume of solvent (Liters)
Wst. of solute
No. of Moles (solute) =
M.wt
M= wt.of solute x 1000

M.wt Vml
0.125 M o355 3l ldglae (10 500 Ml st 433U AgNO3 cilal e 2xe LeiJlia
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M= _Wt. x 1000

M.wt Vml

M.wt. (AgNO3) = Sum.of At Wt
=107.9 x1 + 14x1 + 3x16 = 169.9 gm/mol.

Wt = M xMwtxV
1000
Wt= 0.125 x169.9 x500 = 10.62 gm

1000
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Density (Sp.gr) x Percentage (%) x1000

Eq.wt

Density (Sp.gr) x Percentage (%) x1000

M.wt
» Ao i) A8l i35 Specific gravity #(Sp.gr): Adasde*

Specific gravity (Sp.gr) = Density of matter
Density of water
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M.wt. ( H2S04)= Sum .of At.wt
2x1 +1x32 +4x16 =98 gm/mol

Density (Sp.gr) x Percentage (%) x1000

M=
M.wt
M = 1.84 x 96% x1000
98

18.02 M
M1 V1 = M2 V2
18.02 xV1 = 0.1 x500



V1=2.77ml
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M = No of Moles ( solute)
1000 gm of solvent

m = Wt. x 1000
M.wt gm

5008M 4lie 4 gm LI e U a0 geall 2S5 2 J sla n‘g‘i}d\j,eiﬂ\u:d&«
? ;Ld\u,a

No. of Moles ( solute)= Wt. of solute
M.wt.

M.wt(NaOH) = Sum. of At.wt
1x23 + 1x16 + 1x1 = 40 gm/mol.

m = No of Moles ( solute)
1000 gm of solvent

m= Wt. x 1000
M.wt gm

m= _4  x 1000 = 02m
40 500
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No.ofgrams = (% gm ) x Vml

100 ml
No. of milligrams = ppm( _ mg ) x Vml
1000ml
No. of micrograms = ppb( ug ) x Vml
1000ml
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mg = ppm( _mg ) V ml
1000 ml

=10mg x 3800 ml
1000
=38 mg
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